
Задания 

Найти передаточную функцию 𝑊 между входным(и) и выходным(и) сигналами 

Вариант Задание 

1 

 

𝑊1 =
3𝑝

2𝑝 + 5
, 𝑊2 =

2

𝑝 + 1
, 𝑊3 =

5

𝑝
, 𝑊4 =

2𝑝

5𝑝 + 7
, 𝑊5 =

𝑝

𝑝 + 2
, 𝑊6 = 3 

2 

 

𝑊1 = 4, 𝑊2 =
2

3𝑝 + 1
, 𝑊3 =

5

𝑝
, 𝑊4 =

2𝑝

2𝑝 + 3
, 𝑊5 =

3𝑝

𝑝 + 5
 

3 

 

𝑊1 = 5, 𝑊2 =
2

𝑝 + 1
, 𝑊3 =

4

𝑝
, 𝑊4 =

2𝑝

𝑝 + 2
, 𝑊5 =

3

𝑝
, 𝑊6 =

3

𝑝 + 1
 



4 

 

𝑊1 =
2

𝑝 + 1
, 𝑊2 =

1.5

𝑝 + 2
, 𝑊3 = 4, 𝑊4 =

5

𝑝
, 𝑊5 =

4

2𝑝 + 1
, 𝑊6 =

10

𝑝 + 5
,  

𝑊7 =
3

𝑝 + 2
,  

5 

 

𝑊1 =
2

𝑝
, 𝑊2 =

3

𝑝 + 3
, 𝑊3 = 4, 𝑊4 =

1

𝑝 + 1
, 𝑊5 =

4

2𝑝 + 3
, 𝑊6 =

6

𝑝 + 5
,  

𝑊7 =
3

𝑝
, 𝑊7 =

5

𝑝 + 2
, 

6 

 

𝑊1 =
2

𝑝 + 5
, 𝑊2 =

3

𝑝
, 𝑊3 =

2

5𝑝 + 1
, 𝑊4 =

3𝑝 + 4

𝑝 + 1
, 𝑊5 =

4

2𝑝 + 3
 

7 

 

𝑊1 =
2

𝑝
, 𝑊2 =

3

𝑝 + 1
, 𝑊3 = 5, 𝑊4 =

4

𝑝 + 3
, 𝑊5 =

1

2𝑝 + 5
 



8 

 

𝑊1 = 3, 𝑊2 =
1

𝑝 + 2
, 𝑊3 =

4

𝑝 + 5
, 𝑊4 =

3

2𝑝 + 3
, 𝑊5 =

1

4𝑝 + 1
 

9 

 

𝑊1 = 3, 𝑊2 =
1

𝑝 + 2
, 𝑊3 =

4

𝑝 + 5
, 𝑊4 =

3

2𝑝 + 3
, 𝑊5 =

1

4𝑝 + 1
 

10 

 

𝑊1 =
1

𝑝 + 3
, 𝑊2 =

2𝑝 + 3

2𝑝 + 5
, 𝑊3 =

𝑝

3𝑝 + 4
 

 


